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DRIVER 1 2 3 4 5 6 7 8 9 10
Gary Campbell Al 10 10 9 10 10 10 10 10 10 0 89 9 10 0 70 1
Jack Gillis A2 9 0 10 0 9 9 0 0 9 10 56 0 0 0 56 2
Jimmy Dougan A5 8 0 0 0 7 8 0 9 0 0 32 0 0 0 32 3
lan McCann A7 0 0 8 0 8 7 0 0 0 0 23 0 0 0 23 4
Crawford Ewing A3 7 0 0 0 0 0 0 0 0 0 7 0 0 0 7 5
Gordon Buckley Bl 10 10 10 9 0 10 0 10 9 0 68 0 0 0 68 1
Brendan Mooney B3 9 9 0 10 0 0 10 0 10 0 48 0 0 0 48 2
Roger Gordon B2 8 0 9 8 0 0 0 0 0 0 25 0 0 0 25 3
Ben Colhoun C1 10 10 9 10 10 10 0 10 0 0 69 0 0 0 69 1
Jimmy Dougan Cc2 0 9 10 9 0 0 0 0 10 0 38 0 0 0 38 2
Derek Harrison D1 9 0 10 10 10 10 10 10 10 10 89 0 9 10 70 1

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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DRIVER 1 2 3 4 5 6 7 8 9 10 @ Q Q Q
Gary Campbell Al 30 30 27 30 30 30 29 30 30 0 266 27 29 0 210 1
Ben Colhoun C1l 29 27 26 29 29 29 0 29 0 0 198 0 0 0 198 2
Gordon Buckley B1 28 29 29 27 0 27 0 28 27 0 195 0 0 0 195 3
Jimmy Dougan A5 26 26 28 25 26 26 0 27 26 0 210 25 0 0 185 4
Derek Harrison D1 21 0 24 24 25 25 28 26 25 29 227 0 21 24 182 5
Jack Gillis A2 27 0 30 0 28 28 0 0 28 30 171 0 0 0 171 6
Brendan Mooney B3 25 28 0 28 0 0 30 0 29 0 140 0 0 0 140 7
lan McCann A3 23 0 25 0 27 24 0 0 0 0 99 0 0 0 99 8
Roger Gordon B2 22 0 23 26 0 0 0 0 0 0 71 0 0 0 71 9
Crawford Ewing A3 23 0 0 0 0 0 0 0 0 0 23 0 0 0 23 10

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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DRIVER 1 2 3 4 5 6 7 8 9 10
Michael Workman Bl 10 0 10 10 0 10 0 10 70 0 70
Colin Hazelton D1 10 10 10 10 10 10 10 10 80 10 70
$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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DRIVER 1 2 3 4 5 6 7 8 9 10 Q Q Q
Michael Workman B1 30 0 30 30 0 30 0 30 30 30 210 0 0 0 210 1
Colin Hazelton D1 29 30 29 29 30 29 30 0 29 0 235 29 0 0 206 2

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.




